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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)
(viii)

(ix)

(x)

This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each. 20x1=20

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs)
and questions number 19 and 20 are Assertion-Reason based questions of
1 mark each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In ' Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 8 marks each.

In Section D, Questions no. 32 to 85 are long answer (LA) type questions
carrying & marks each.

In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions in
each case study.

There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E. -

. : 22 )
Draw neat diagrams wherever required. Take m = - wherever required,
if not stated. '

Use of calculator is not allowed.

SECTION A

1. If o and B are the zeroes of polynomial 3x2 +6x +k such that
a+B+of=— g,thenthevalue ofkis:
(A) -8
B 8
) -4
D) 4
30/1/1 # 3| Page e P.T.O.
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2. WWx=1dMy=2MerafiFqm2x-8y+a=0TM2x+3y-b=0HThH

%ﬁ%, ar:
(A) a=2b
B) 2a=b

C© a+2b=0
D) 2a+b=0

3.  fegert P(— 4, 5) T Q(4, 6) T FreT aTel WTEvs 1 Hea-forg Rer 8 -

(A XA
B) y-IEW
©) wE-figw

D) Tx-IFWALTE y-3TF T

4.  AROIFROIRAANT+45sin0=9 8, AOH AL :

(A 90°
B) 30°
(C) 45°
(D) 60°

5. tanzﬁ—( 1 xsece}aﬂﬂ'ﬂ%:

cos 0
A 1
(B)
c -1
D) 2

6. AR HICF(98, 28) = m a1 LCM(98, 28) =n®, @ n - Tm F AT ;

A 0
(B) 28
(C) 98
(D) 198
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2. Ifx=1andy=2is a solution of the pair of linear equations 2x — 3y + a=0
and 2x + 3y — b = 0, then :
(A a=2b
B) 2a=b
(C) a+2b=0
D) 2a+b=0
3. The mid-p?int of the line segment joining the points P(— 4, 5) and Q(4, 6)
lies on :
(A) x-axis
(B) y-axis
(C) origin
(D) neither x-axis nor y-axis
4. If 6 is an acute angle and 7 + 4 sin 6 = 9, then the value of 0 is :
(A 90°
B) 30°
(C) 45°
(D) 60°
5. The value of tan? 0 — ( X 8€c 9] is:
cos 6
(A)
B 0
< -1
D) 2
6. If HCF(98, 28) = m and LCM(98, 28) = n, then the valueof n—7m is:
A 0
(B) 28
(C) 98
D) 198
30/1/1 # 5| Page S P.T.O.
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7. el o 3 T 3 SR o el TS T e e R
(A) EEACERIE
(B) Te@asdie
(C) WIHERE
(D) S BT S

8.  BnABC M DEFH, £ B=/E, 2 F=/CTAB = 3DES 1w B
(A et § g wwe T |
(B)  weiTed quT aHEy €
(©) A gatmen FRTE T T
(D)  TWEY & o HarTE A T

9. IR +(-1)8=0%,dn:
(A) IS EAIONR R
(B) IS U U &
() @i fmEeR
(D) wETHTET

10. ﬁmmmﬁ,aa@ﬁﬁ%@mw%mﬁ%ﬁ%ﬁms@ﬁaﬁm%:

@) 3 B) 5
© 2 | D 4
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7. The tangents drawn at the extremities of the diameter of a circle are
always :

(A)  parallel
(B) perpendicular
(C)  equal

(D) intersecting

8. In triangles ABC and DEF, 2« B= £ E, £ F = £ C and AB = 3 DE. Then,
the two triangles are :

(A)  congruent but not similar
(B)  congruent as well as similar
(C)  neither congruent nor similar

(D)  similar but not congruent

9. If (-1)® + (-<1)8 = 0, then n is :
(A)  any positive integer
(B) any negative integer
© -any odd number

(D)  any even number

10. Two polynomials are shown in the graph below. The number of distinct
zeroes of both the polynomials is :
y

E

/NI

A 3 B) 5
© 2 (D)

30/1/1 # 7| Page P.T.O.
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11, e wiae 33 S m vE AR 2m 4+ 3m ¥, A EH @UIET :
A 10
® 9
© 12
(D) 4
19, T sifenct 3 srgesh T AT A 15 o 18x ¥ | A 57 AfehS] T AIEAR T -
A)  x
B) 1ix
(C) 1ix
(D) 34x
13. @ 52 it o et i & g Uk T T | =0 T ¥ T e TR
e T TR N St e ¥
3
(A) e
2
B) F
1
©) 3
3
(D) 26
14, P § & S-a OieE ge V3 7 J5 Hfa s aene ?
(A) 14142387954012....
(B) 2326
) =
D) 1857142
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11. Ifthe sum of first m terms of an AP is 2m? + 3m, then its second term is :

A& 10
B 9
© 12
D 4

12. Mode and Mean of a data are 15x and 18x, respectively. Then the median
of the data is :

A x

(B) 1lx
(C) 17z
(D) 34x

13. A card is selected at random from a deck of 52 playing cards. The

probability of it being a red face card is :

@A) 1‘33
® =
© 3

D) 5—’6—

14.  Which of the following is a rational number between V3 and \5 ?
(A)  1-4142387954012 ....
(B) 2326
© =

(D) 1-857142

30/1/1 # 9] Page 8 P.T.O.




15, af e a  Breas 1 A 40n A & e FR S A 7208, A A

%rw%:
(A) 2005
(B) 100 TS
C(©)  20%ER
(D)~ 10+/2 318
16, & SR, % O a1 I T T Al g P & w vt PA @i e 1 A
/ POB = 115°%,dl £ APO SUsK§ :
A
P O
115°
B
(A) 25°
(B) 65°
(C) 90°
(D) 35°
17. O o 9T 150 m A S IS W R | e S A g @ e wfer it &ferst
RITY 30°H R STN € | S A ATE R -
(A) 10043 m
(B) 300m
) 15042 m
(D) 15043 m
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15.  If a sector of a circle has an area of 407 sq. units and a central angle of

7 2°, the radius of the circle is :

(A)
(B)
(©)
(D)

200 units
100 units
20 units
10+/2 units

16. In the g‘i\;en figure, PA is a tangent from an external point P to a circle
with centre O. If £ POB = 115°, then £ APO is equal to :

(A)
B)
(®)
(D)

25°

65°
90°
35°

17. A kite is flying at a height of 150 m from the ground. It is attached to a
string inclined at an angle of 30° to the horizontal. The length of the

string is :

(A) 10043 m
(B) 300m
(C) 15042 m
(D) 15043 m

30/1/1
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18. 20cmﬁéw%@g&%ﬁ§£ cmn P9 TS 3 ST Tk =T 3 &9 6 HIST | T
1 3 S, I ST E AT IS .
(A)  30°
- ®)  60°
(C)  90°

(D) 50°

o W@ 19 37K 20 IR T 0 sreTiea e & | 3 e Tu Y & A T bl e
(A4) awg\a%aﬁa#(R)mwﬁamw?/sﬁwﬁ%wﬁwﬁﬁqwaﬁ@m), (B),
(C) 3R (D) ¥ @ Tt T |

(A) a:ﬁmq(A)aﬁtaa%(maﬁw%aﬂwa%(m,mmmaﬁwm

FETE

(B) s (A) 3K a8 (R) St T ¥, W 7 (R), SRR (A) T HR

IR TET AT ® |

(©) 3R (A) T R, T T (R) TR © |
(D) SR (A) T 8, Tg e (R) HT & |

19. 3R (A): 1 2 20 T <1 G 2 & A T G T Y IR 1
@ (R) - et e E% fog, afe P(E) = 12, A E T PR ser a2 |

20. 2IfHIT(A): aﬁwwﬁwa@a}aﬁumiﬁwmmarﬁﬁeﬁg%%ﬁﬁzﬁ
T T 9T BT R |
T (R): rﬁwaﬁﬁé?ﬂ@@g@ﬁmmﬂiﬁm%l

‘ ElzE
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18. A piece of wire 20 cm long is bent into the form of an arc of a circle of

radius il cm. The angle subtended by the arc at the centre of the circle

"
is :

A)  30°
B) 60°
©  90°
D) 50°

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below. ‘
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of selecting a number at random from the

numbers 1 to 20 1is 1.

Reason (R): For any event E, if P(E) = 1, then E is called a sure event.

20. Assertion (A): If we join two hemispheres of same radius along their
bases, then we get a sphere.

Reason (R): Total Surface Area of a sphere of radius r is 3nr?.

ElgEl
30/1/1 # 13| Page s P.T.O.



TUEE
s @vE 7 5 37T TSI (VSA) TRR o F 8, 8w % 2 e | - 5x2=10

21. (%) JiT xcos 60°+ycos 0° + sin 30° — cot 45° =52 @ x+ 2y FAEIA
cAIS I

STt

tan2 60°

5 5 ST T FT ShITSTT |
sin® 60° + cos” 30°

)

22, WgHE px) =x%+ g—x— %%Wﬂmaﬁml

93. T I ¥ FF % WeNE (22,2 7) B afe 78 3 foig (11, - 9) T Breht ST & TT
TR AT 102 TS B, T @ T/ T T hitT |

24. (&) 7% A ABC ~ A PQR 2 f@# AB = 6 cm, BC = 4 cm, AC = 8 cm AT
PR =6 cmE, @ (PQ + QR) 3 SIS @ hits |

3Tt

@) & STH %RS— = %w41=42%,ﬁasﬁgq%APQS~ATQR.

T

ERE
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each.

21.

22,

23.

24.

SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks
5x2=10

(@)  If xcos60°+y cos 0° + sin 30° — cot 45° = 5, then find the value of
X + 2y.

OR

tan? 60°
sin? 60° + 0082 30°

(b) Evaluate ;

Find the zeroes of the polynomial px) = %2 + %X — %
The coordinates of the centre of a circle are (2a, a — 7). Find the value(s)

of ‘@’ if the circle passes through the point (11, — 9) and has diameter

v 10+/2 units.

(a) IfAABC ~ APQR in which AB = 6 ¢m, BC = 4 cm, AC = 8 cm and
PR = 6 cm, then find the length of (PQ + QR).
OR

(b)  In the given figure, —%—S— = %—%— and L 1=2£2, show that

APQS ~ A TQR.

30/1/1
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25. T S T SRITHIL HET o s § 26 m i it ot Reerar @ ST foig P R ST R 1
S 2 o B % < Riget A 7on B Y @R g0 10 m ¥ (PA SR PB I W
Tt Tt #) | g e s e s R |

ECLUERIT

sa@vgﬁ6agf-3aﬁ#(SA)W%Wé‘)ﬁ#ﬁm%3w%/ , 6x3=18
26, (%) & emphd, 0 g 2 BOD fig e | Res A

£ BAC + £ ACD = 90°.

YT
o A B g oo o T o ST S () Y g %
3 TCEEeR IV ARG hLt T |

iR
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A person is standing at P outside a circular ground at a distance of 26 m
from the centre of the ground. He found that his distances from the
points A and B on the ground are 10 m (PA and PB are tangents to the

circle). Find the radius of the circular ground.

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. (a) In the given figure, O is the centre of the circle and BCD is tangent
to it at C. Prove that £ BAC + £ ACD = 90°.

(b)  Prove that opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

30/1/1 17| Page



27. (%) g R e - tan 0 + cot © =1 + sec 0 cosec 0
1-cot® 1-tan® :

et

mw%:s%nA+cosA+sinA—-cosA:’ 2
snA_cosA  sinA+cosA  2sin? A-1

)

28. %@HWW‘Wy—WﬁQﬁ@rG)W(—1,—4)3%%@@3@3{@@‘1@
P s 2 | wRrser fig off 3 i)

29, fug ST s —}E T ST T S |

30. @WW%WW%WW@@WWW% | ST
e 6t BT, SR T S o o ¥ | SR s H %91-% m3 IR T,

TR ST Sl SIS T shisTe | (m = %ggeﬁﬂaﬁﬁn) ‘

31. ﬁmwmmwlﬁmﬁmaﬂéﬁ@mﬁeﬁrmﬁﬁaﬁmm
Hf |

TusH

wmﬁﬂ?ﬁ-ﬁﬁa(LA)W%wé R ves & 5 3FHE | 4x5=20

30, e 3 3 ARl A U1 B H, SRR 8% e aeT 9% e sATS ¥l 8, H
oo TR T | 3 T T 1,860 i SISt ST AT | T, S S A
W&ﬁﬁﬁéﬂﬁrﬁ%ﬁﬁmﬁwﬁmmﬁsﬁmﬁ%mmom
e ST | S SEYRTG o e ede aivern # faat TR e A |
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tan © cot 6

+ =1 + sec O cosec ©
1—cot8 1—-tan@

27. (a) Prove that : -

OR

sin A+cos A sinA—cosA 2

b P that : + B
(b) TOVeRNaE N A _cosA  sinA tcosA 2sin? A -1

28. Find the ratio in which the y-axis divides the line segment joining the
points (5, — 6) and (— 1, — 4). Also find the point of intersection.

29. Prove that 1 is an irrational number.
NG
30. A room is in the form of a cylinder surmounted by a hemispherical dome.

The base radius of the hemisphere is half of the height of the cylindrical
1428 m? of air, find the height of the

part. If the room contains

cylindrical part. (Use 1t = %—2— ).

31. Two dice are thrown at the same time. Determine the probability that the

difference of the numbers on the two dice is 2.

SECTION D

This section has 4 Long Answer (LA) type questions carrying 5 marks each.  4x5=20

32. Vijay invested certain amounts of money in two schemes A and B, which
offer interest at the rate of 8% per annum and 9% per annum,
respectively. He received T 1,860 as the total annual interest. However,
had he interchanged the amounts of investments in the two schemes, he
would have received T 20 more as annual interest. How much money did

he invest in each scheme ?

30/1/1 ; # 19| Page P.T.O.




e wraC S ABCD o1 ot BD, Yeravs AE 1 14 F R T 8, STEl

33. (@)
£ et BC T feera 18 ¥ ¥ | R ifere o6 DF x EF = FB < FA.
qgar |
@) AABC ¥, afe AD LBC @ ADZ=BD xDC %, @ frg it 6
| £ BAC = 90°. |
34. (%) : e TR BT ST UETT 60 con & I 3 <hU} T TS 25 cm%lﬁg@rsﬁ
| 1721 31 A Bl SaTERI T I |
STt |
) o YTt 480 kom S G TR <ITet & 79 e 2 | A 51 =Tt 8 ko
m@ﬁ,a@a@@mmﬁga&mmlWﬁwm
it |
35. W%Mﬁ@wm‘f’mw,aﬁﬁqwmwmw%lmz
S7feReY T STgeTeh 1 ShitC |
3 T eIl ) Gl
11-13 7
13- 15 6
15— 17 9
17 - 19 13
19 -21 f
21 -23 5
23 — 25 4
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33. (a) The diagonal BD of a parallelogram ABCD intersects the line
segment AE at the point F, where E is any point on the side BC.
Prove that DF x EF = FB x FA.

OR

(b) In AABC, if ADLBC and AD2=BDxDC, then prove that
< BAC = 90°,

34. (a) The perimeter of a right triahg]e is 60 cm and its hypotenuse is

25 cm. Find the lengths of other two sides of the triangle.
OR

(b) A train travels a distance of 480 km at a uniform speed. If the
speed had been 8 km/h less, then it would have taken 3 hours more

to cover the same distance. Find the speed of the train.

35. Find the missing frequency ‘f’ in the following table, if the mean of the
given data is 18. Hence find the mode.

Daily Allowance | Number of Children
11-13 1
13-15 6
15-17 9
17-19 13
19 - 21 £
21-23 5
23 -25 : 4

30/1/1 # 21| Page oA P.T.O.
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@IET
T EUES T 3 T AT TR G5 S o8 IF S 4 375 5| 3x4=12

Th{0T ST+ - 1
36. U forrmer T STEuaTe o T o e o AR S W RS @ R | g A
ST W 355 % ST} ST o8 <l o1 e ¥ o ad o 3, Fored v
300 T T BT | §9 RS 1 AR Alyh gl R 37 7 & g,
SR 3 ST e Rt 21 g 2T 50 HITT F@T o1 ST AT | IATETT 3 forg,
UL =Rt 350 I, e St 400 HieT 3R T T 3T | FSIHIeRG <Iaehil !
 FAEET10 %]

IRer € TS SR 3 TTER 9, Treferiia i o 3w S :

() 9 IHRE o gHa ST T S, Uil 991 $37 ue feted | 1
(i) 8o =Rt H 7 % TS U A AT | 1
(i) () 10 =R G H TAE Al TS FA U G AT | 2
xeraT
(i) (@ 3R TH S AT FAA T8 6 T G L AT, Al 39k G T I TS
el gt ST I | | 2
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SECTION E

This section has 3 case study based questions carrying 4 marks each. 3x4=12

Case Study - 1

36. A school is organizing a charity run to raise funds for a local hospital.
The run is planned as a series of rounds around a track, with each round
being 300 metres. To make the event more challenging and engaging, the
organizers decide to increase the distance of each subsequent round by
50 metres. For example, the second round will be 350 metres, the third
round will be 400 metres and so on. The total number of rounds planned
is 10.

Based on the information given above, answer the following questions :
) Write the fourth, fifth and sixth term of the Arithmetic Progression

so formed. 1

(i) Determine the distance of the 8" round. 1

(iii) (a) Find the total distance run after completing all 10 rounds. 2
OR

(iii) (b) If a runner completes only the first 6 rounds, what is the
total distance run by the runner ? 2

ElieeE
[EhEs
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TR0 T+ ~ 2
87. ST U UG 9] § T8 ITHEL e, SATSS AT S8 S ST L T&AT Sl & dlich
AT SgTE S 6 | Sged arge 9 Ffia ot T @ g, s S AT AR
SSRGS

Teh U TSI ST o1 BTG o TR & ST T §, Feet =99 35 mm B | aR i g
5 SATE Bt ST 7 ot SRR foRR TR R, ST S 10 SR et # forier e
St for ST & gl T R |

SqerT 1 TS SR o SR 9, Freferiae St o St aiieTg :

G) Yok HSUEuE ST ShEI hi J1d ShifRTT | 1

(i) =TT ACB I TS T i | 1

(i) () T F T HSTEUS T FF J1q hiteTg | 2
arera | |

(iii) (@) SR ST TS SIS o AR hT et TelTg T 1o | 2
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Case Study - 2

37. A brooch is a decorative piece often worn on clothing like jackets, blouses
or dresses to add elegance. Made from precious metals and decorated
with gemstones, brooches come in many shapes and designs.

One such brooch is made with silver wire in the form of a circle with
diameter 35 mm. The wire is also used in making 5 diameters which
divide the circle into 10 equal sectors as shown in the figure.

Based on the above given information, answer the following questions :
1) Find the central angle of each sector. 1
(i)  Find the length of the arc ACB. 1

(i) (a) Find the area of each sector of the brooch. 2
OR

(iii) (b)  Find the total length of the silver wire used. 2

30/1/1 # 25| Page i P.T.O.
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TERTOT AT — 3

38,  STAT UF TISCEISY ok AN & B G WG ¥ 7T 39 YW 1 3@ W T | e A
T I=TT ST G0° TTT | T, T I Te T ¥ Fehe 40 Mt S T TaeienT
F T TS TS AT TET ¥ IH TEIISH o IS T S+ 10T 45° 1T |

5 45°

&

o

40 m

60°

A 4

A E

SuEfere df 7T SRR 3 STTER W, FAfetige ST o Se i

() = CD #eer hfex?, @ b % wel § gt BD 91 Hifse |

(i) N % RTH gl BC T shif |

(i) (%) SRR S CE AN [/3 = 1-78 ST shite]
HUET

Gi) (@ IR”AC=100m 2, T AR AT |

EE
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Case Study - 3

38. Amrita stood near the base of a lighthouse, gazing up at its towering
~height. She measured the angle of elevation to the top and found it to be
60°. Then, she climbed a nearby observation deck, 40 metres higher than
her original position and noticed the angle of elevation to the top of
lighthouse to be 45°. ‘
C
A
h
B A%5° y
T D
40 m
60°
A E
Based on the above given information, answer the following questions :
(1) If CD is h metres, find the distance BD in terms of ‘h’. 1
(i)  Find distance BC in terms of ‘k’, 1
(iii) (a) Find the height CE of the lighthouse [Use /3 = 1-73]
OR
(iii) (b) Find distance AE, if AC = 100 m. 2
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